BignmoBiai 10 npaKTHYHUX 3aBAAHHB 3AHATTA No3 HA TeMYV:

«IIponopuia. Ocnosna eracmugicms nPonopuiiy

Bci npaBwiIbHi.

a) Kpaiini: 11 10;
Cepenni: 21i 5;
PiBHicTh: 10=10.

0) Kpaiini: 211 2;
Cepenni: 3 i 14;
PiBHicTh: 42=42.

B) Kpaiini:4i9;
Cepenni: 3 i 12;
PiBHicTb: 36=36.

a) 10;
0) 6;
B) 7,5.

a) Hanpukaaa: 4:2=6:3;
0) Hanpuxaaa: 5:10=1:2.

a) 15:5=6:2 a60 5:15=2:6, ad6o 5:2=15:6, a6o 2:5=6:15;
0) 24:4=18:3 a060 4:24=3:18, a0 3:4=18:24, a60 4:3= 24:18.

a) Tak, 00 24-35=30-28;
0) Tak, 00 2,5-32=2-40;
B) Tak, 0o 2,1-0,5=0,7-1,5;
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r) Tak, 00 —1=.
3~ 3




a)x:2=3:11;

11x = 6;
=£‘
11’
B)0,5: x=15: 2,4;

X

15x =0,5- 2,4;

x = 0,08;
12,3 x

n) 5 s
6x = 12,3 - 4;
x =8,2;

a)0,1:2=ux:6;
x=01-6:2:
x =0,3;

B)7T:3x=2:9;
Bx=7-9:2;
3x = 31,5;
x=31,5:3;

x =10,5;

x+1=§.
) 6 3

xX+1=6-5:3;

x+1=10;
x=10-1;
x=9;

a=rT

25 11

4 2x
2¢=4-11: 2,5:
2x =17,6;
x=17,6:2 = 8,8;
Nd:(x-3)=2:3;
x-3=4-3:2;
x -3 =6;
x=6+43;
x=9;
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8y 6.4 x+3 3,6
) "9 ~0,45° ® % “or’
8y =6,4-9:0,45; x+3=14-3,6:0,7;
8y = 128; x+3="T2
y=128:8; x=72-3;
y=16 x = 69.
8) 2,4:(0,52)23,6:12;
9 24 5 36
12:36: 0,5z2=— -—1 —
24 13'2’6' 10 3 10’
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0,52=£.f}.’_\_.36
9, %, 10°
40 40 5 10 10 100
062=—,2=—>t-—,2="— —, 2="T
36 36 10 9 5 45
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1
t-1,8 23
r) = :
27 2,1
g i
2‘—1,8:27-2-£:2,1;t—1,8=&.k_.£;
13, 24,

90
t—1,8=?=30; t-1,8=30;¢t=230+1,8=31,8.

n2__y x _T
D75 70,25} 2) 036 9’
y=172-0,25:5; x=036-7:09;

y = 0,36. x =0,28.

a)10:4=15:6;6:15=4:10;
6)1:1,2=2,5:3;3:2,5=1,2:1;
25 30 6 5 6 30
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